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/32

Multiple Choice: Identify the choice that best completes the statement or answers the question. [10]

1. What is the opposite of the expression a’® — 2a* — 8 + 5a?
a) —a’+2a*+8+5a b) & +2d*+5a-8 @ —a*+2a*-5a+38 d) d*+2a*-8-5a

2. What is the value of the constant in the expression a* — 2a*> — 8 + 5a?

@ -8 b) 3 c) 5 d) 8

3. What is the coefficient of the term —7b3c??

@ -7 b) 2 ¢ 3 d 7

4. What is the degree of the term 2u°v?

a) 1 b) 2 ¢ 3 @ 4

5. What is the degree of the polynomial 3x* — 5x% + x?

a) 1 ) 3 ¢) 5 d) 6

6. 2k’ —3k+1isa
a) term b) monomial ¢) binomial trinomial

7. Which expression is equivalent to 3x —5 +2x +3? 3w +2%=5%
a) 3x ® sx-2 c) x-2 d) 5x+2

8. Which of the following terms is equivalent to (6a®)(3a?)?

a) 9d’ b) 94" © 18 d) 184"
9. Which expression is equivalent to —2m(3m — 1)? 2m
@ —6m? +2m b) —6m*—1 c) —6m>—2m d) 6m?—-2m
S+6x3—
10. Which expression is equivalent to darox)—ox ?

—-2x

: 3 3 3 |
o) —2xt43x? -2 —2xt=3x2 4 9 2x-3xt4ox 4 —2xt4ex®-3x



12. Simplify each expression. (Collect like terms.) [4]

= 3X-TX -] +2
==4x t1

¢) (7x—4y+1)+ 2y —-5x—6)

Ty @) 12y 25x€9)
= 2‘[‘2"5

13. Determine each product. [4]

a) (2a)(—4b) =-8ab

¢) —11(y? — 2y +3)
= -IIYz +22y -33

14. Determine each quotient. [4]

10xy -
) e Sxy
=5 -x-!.x
11"9
o) 11b%c+5bc?+4bc  |Ib%fe  Spe’  uke
—bc T e "t -be

-llb -5¢ -4

b) 4x% —3xy —y? + xy + x?

— vy W
T 4T X -3y txy -y*
T SK-2xy -y

d) (7x—4y+1)—(2y—-5x—6)
1y @) 2y 15%€O)

= 12X -6y +7

AN
b) 4x%(5x — 3)

= 20%® -12x?

N
d) (64 2t2—1t)(5t%)
= 3ot’ +10t° -5t

12mn?-18m

3m

Aoint _“m
B 2

=4n* -6

b)

30x3-24x45
6

0%} 24y

s -2

d)

6 6
= BX® - Yy ¢

el sl
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15. Are 2a?b and 3ab? like terms? Why or why not? [2]

No, they are not like ferms since "a* is squared
in the first term but not the second term.

16. Determine the missing factor of [J(7x —5) = —14x? + 10x. [1]

*Tx =-Mx? ..
mf? Tx == The missing fador is -2x.

-2%x-(-S) = 10X v A~
17. Expand and simplify 2)*(y + 7) = 3p(4y —3°). [2]  er Zy’ﬂl-ly‘ - (IZ"-?,y“)
= 2y tHy* -12y* ¢ 3y"

< Zys ’zyz *3y't

18. The perimeter of the triangle shown is P = 14x? — 8x + 11. Using the sides shown, determine the length
of the third side. [3]

swra MXE=Bx vl = (3%+4) - (5% tox-5)
- 8x(@D - 1D 5 - x D
5x2+6x—5 T mw e
= 4 -17x t12

Tne third side s 9%x*-1Tx +12.

19. The area of a triangle is represented by the expression 6x° — 12x* + 3x. What is the height of the triangle if

its base is 3x? [2] A= b-h @ Divide area by base
2 s j
GX3-12% +3%

2A =b-h ™ = 2%x* -Hx +]
2A .
&= =h @ Muﬁlply by 2.

2 (2% -4x +]) = Yx*-8x +2
The heiahf is Yx*-8x+2.



